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Paper 2

GEOGRAPHY

MARKING SCHEME PAPER 2

SECTION A: (25 MARKS)

Answer all questions.
1.Describe Dredging process as a method of mining.                                           ( 5 marks )

· Dredging method is used where trona is dug out using a bucket dredger (a giant machine that floats on top of the lake water that accumulates as the dredger extracts the trona.

· Inside the dredger the trona is crushed into smaller pieces

· It is then mixed with lake liquor (solution of brine   NaCl) and pumped to the factory at the shore of the lake

· At the factory it is mixed with water to remove impurities.

· The mixture is then dried and sent to the desiccators (huge rotating boilers) 

· The heating is to remove moisture from the trona and the process of heating causes sodium bicarbonate to lose its hydrogen and become sodium carbonate in a grayish substance called soda ash.

· The soda ash is allowed to cool, ground to powder then packaged

2 (a) Differentiate between horticulture and market Gardening.                          ( 2marks )

· Horticulture is the practice of cultivating vegetables, fruits and flowers mainly for sale/export while Market gardening is cultivation of fruits and vegetables for sale in the nearest urban centre

(b) Outline two reasons why horticultural products from Kenya are in high demand in Europe.                                                                                                            ( 2marks )
· Direct link/air lines from Kenya to Europe

· Climate of Kenya is more favourable to a number of horticultural crops

3 (a) Define invisible trade.                                                                               ( 2 marks )

· It is an international trade where services are exchanged

    (b) (i) Give two reasons why Kenya experiences unbalance of trade with othercountries.       

· Kenya’s exports are mainly agricultural raw materials with low value and earn less revenue while imports are manufactured goods of high value hence a trade deficit.

· Agricultural goods from Kenya face stiff competition from imposed quota markets which lead to reduced sales.

· Some of the goods exported are of low quality hence generates little earnings.

· Semi-processed goods exported earn less income compared to imports.
          (ii) Name two visible exports from Kenya.                                                  (2marks)

· Coffee

· Tea

· Cement 

· Titanium ore

· Soda ash

· Pyrethrum / petroleum products

· Horticultural products/ cut flowers/fresh fruits/vegetables

4 (a) Give two types of settlement patterns.                                                       (2 marks)

· Linear settlement pattern

· Nucleated / clustered settlement pattern 

· Scattered / dispersed settlement pattern

· Radial/star shaped settlement pattern

(b) State three benefits of hinterland to Thika.                                                       (3marks)

· Provides employment opportunities

· Provides raw materials to the industries

· Provides ready market from the dense population

· Provides readily available labour

5.(a) Below is a map of the Ruhr Industrial Region. Use it to answer  the questions below.
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i ) Name the canal marked U.                                                                        (1 mark )

Lippe / lippesite canal

ii ) The river marked V.                                                                                  (1 mark )

River Emscher 

Iii ) The town marked W.                                                                               (1 mark )

Dortmund 

(b) Apart from coal give two other sources of energy which are utilized in the Ruhr region. 

· Hydro electric  power/HEP

· Nuclear power

· Petroleum / oil    

· Geothermal                                                                                           (2marks)

SECTION B

6. The table below shows hypothetical size of laud in ‘000 acres for exotic trees grown in Kenya between2010 and 2011.  Use the date to answer the following questions.

	Year/Tree species
	2010
	2011

	Pine
	150
	120

	Cypress
	100
	84

	Cedar
	40
	30

	Fir
	10
	6

	TOTAL
	300
	240


(i) Calculate the decline in total land acreage under exotic between 2010 and 2011.
 (2marks)
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(ii) Using a radius of 5cm, draw a pie – chart to represent the data for 2010.                                                            ( 7 marks )

Pine:            
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Cedar: 
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Cypress:       
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Fir:   
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(iii) State three advantages of using a pie-chart to represent statistical data.
   ( 3 marks )

· Easy to compare various components.

· Wide range of data can be presented.

· Easy to interpret/ read

· Easy to construct/draw

· Gives a good visual impression.

(b) State four likely reasons why there was a decline in total acreage of land under exotic tree in Kenya before 2010 and 2011.
       
                                                ( 4 marks )

· Rapid increase in population has led to encroachment into forest land hence destruction of forests;

· Occurrence of forest fires which have led to the destruction of large areas under forest;

· Illegal logging / indiscriminate cutting of trees thereby reducing 

· Attacks by pest / diseases have led to destruction of valuable trees species;

· Some wild animals through debarking / trampling / uprooting;

· At times, the government allocates land to private developers / thus reducing the land under forest;

· Prolonged drought leads to the drying of some trees;

(c) Give three characteristics of coniferous forests.



      ( 3 marks )
· The trees have a conical shape and flexible branches 
· Most trees are evergreen with needle like leaves 
· The tree trunks are flexible 
· The trees have a widely spread root system 

· The trees occur in pure/ uniform stands. 
· The forests have little undergrowth/no under growth.

· Trees are light in weight

· Trees have thick barks 
· The trees take long to mature 

(d) Explain the differences between softwood forestry in Kenya and Canada under the following.

(i) Period of growth








        ( 2 marks )
· In Kenya trees take short time/ mature faster due to warm climates while in Canada trees take long period of time to mature due to cold climates/temperate climate.

(ii) Forest distribution





                             (2 marks )

· In Kenya forests are found mainly in highlands while in Canada forests are found in both highlands and lowlands.

· Kenya has a small are under forest cover while in Canada there is a large area under softwood forests.

(iii) Transportation of logs.







       ( 2 marks )
· In Kenya transportation of logs is done by using roads/ tracks while in Canada logs are transported using melt water and railways.

· In Kenya transportation of logs is expensive while in Canada 

7 . ( a ) ( i ) What is beef farming                                                                       ( 2 marks )

· This is the rearing of cattle for meat

( ii ) Give two types of beef farming                                                                  ( 2 marks )

· Traditional beef farming

· Commercial beef farming

( b ) ( i ) State four characteristics of beef farming                                              ( 4  marks )

· Mainly practised on extensively gently sloping land

· Involves the rearing of beef cattle mainly for meat

· Animals are kept for commercial purposes

· Modern methods of livestock farming are applied /scientific management. i.e A.I /cross breeding

· The ranches have all the basic requirements e.g cattle dips

· Ranches are scientifically managed and the movement of livestock is restricted

· Land is paddocked

· Fodder supplements the natural pasture

· Have their slaughter houses/abattoirs

· Roads and railway lines have been constructed to link the abattoirs to the ranches

( ii ) Apart from meat , hide and skin , identify three other products from beef farming 

 ( 3 marks )

· Fat

· Bones for fertilizer

· Horns and hooves for glue

( c ) Compare beef farming in Kenya and Argentina                                            ( 8 marks )

· In Kenya beef farming distribution depends on climatic conditions while in Argentina it is distributed all over the country

· In Kenya cattle mainly depends on natural pasture while in Argentina they are depend on both natural pasture and fodder 

· In Kenya most of the beef products are consumed locally while in Argentina the surplus is exported

· Beef farming is less developed in Kenya while in Argentina it is highly developed 

· Beef farming in Kenya experiences water and pasture shortages /drought while in Argentina there is sufficient water and pasture throughout the year

· In Kenya road transport is used to transport beef animals and their products while in Argentina railway transport is mainly used

· Beef ranches are small in sizes in Kenya compared to vast ranches in the pampas of Argentina

( d ) Your class intend to conduct a field study on a nearby ranch scheme 

( i ) Identify three problems you are likely to face in the field                              ( 3 marks )

· High temperatures would be uncomfortable in the field/scorching

· Accidents are likely  to disrupt the study

· Insects or animal bites will interfere with the study

· Inadequate co-operation from the farm from the farm owner

· Fatigue

· Inability to identify the beef breeds correctly

( ii ) State three methods used to record data collected                                       ( 3 marks )

· Taking photographs of the animals

· Drawing sketches of the farm

· Filling in the questionnaires

· Observing the animals

8 .(a) What is population structure                                                                    ( 2 marks )
· The composition of a given population in terms of age and sex
( b) Explain three physical factors that influence population distribution in East Africa                                                                                          (6 marks) 

· Areas with fertile volcanic soils /well drained soils have attracted population since they permit arable agriculture.
· Areas that have poor soils have sparse population
· Cool and wet /hot and wet /high and reliable rainfall areas are densely populated because they are suitable for farming
· Hot and dry areas have sparse population because they are unsuitable for farming
· There are some parts of East Africa that are infested with pests and diseases that discourage human settlement. 

· Low lying areas prone to periodic flooding/ water logging are generally sparsely populated. For example, the Kano Plains and lower Tana Areas in Kenya and the swampy areas in Uganda.

· Well drained soils attract dense settlement hence high population

(c )  (i) State four effects of mortality on population in Kenya                             ( 4 marks )

· Mortality reduces the size of population

· Mortality affects population growth rate

· Mortality affects the age-sex balance/sex population pyramid

· Mortality reduces the productivity of population by causing shortage of labour

(ii) Outline the information  derived from a population pyramid                        ( 4 marks )

· Size of a population

· Different age-cohorts/age-group

· Proportion of males to females/ratio of males to females

· The composition of gender/sex

· Proportion of youthful/working/ageing/dependency ratio

· The infant mortality rates

(iii) Give three causes of low fertility rates in Sweden                                          ( 3 marks )

· It’s expensive to look after large families

· More women want to concentrate on their career

· Increasing sexual equality has meant women have more central power over their own fertility

· There is ready availability of contraceptives

(d) Explain three causes of rural - rural migration                                                ( 6 marks )

· Population pressure which leads to landlessness in areas such as central Kenya leading to migration of people to settlement scheme and to less populated areas in search of land

· Transfer of services from one rural area to another /retirement/retrenchment

· Insecurity in areas such as northern Kenya where frequent attacks occur and cattle stolen forces people to migrate to safer areas

· The establishment of large plantations near Thika town/rice irrigation schemes in Mwea and Ahero attract people from neighbouring areas as they search for employment

· Pastoral communities move with their animals to areas where pastures and water are available

9 .(a) Define Eco- Tourism                                                                                 ( 2 marks )

· Visiting places of interest , promotion of tourist activities and at the same time conserve environment.

( b )  Apart from wildlife , name three other tourist attractions found in the Kenyan Rift valley.    
· Fascinating scenery,

· Rift valley,

· Rift valley lakes
· Hot springs and Geysers,

· Craters, Calderas,

· Historical sites e.g. Olorgesaille, Hyrax Hill
· Culture and tradition of the people, handicrafts, dresses, food 
· Sports e.g. mountain climbing, motor rally, camel derby, sport fishing, running. 
                                                                                                                        ( 3 marks )
( c ) Give four benefits of domestic tourism in Kenya.                                         ( 4 marks )

· In order for Kenya to make use of tourist facilities during the low tourist seasons

· In order for Kenya to be exposed to their own country/interact and appreciate others, enhancing national unity

· In order to encourage the local industry as local tourists are likely to purchase the products

· In order to expose Kenyans to a wide range of recreational facilities available in the country

· In order to create employment /raise the living standards of the people

· To enhance circulation of money within the country, thus contribute to economic development

· In order for the government to earn revenue, especially during the low seasons

· For people to appreciate the need to preserve wildlife/culture

· For people to appreciate the tourist attraction features within the country

( d ) Explain four Reasons why tourism is more developed in Switzerland than Kenya. 

· Switzerland is centrally located in Europe making it easily accessible to tourists of European origin while Kenya is far from Europe and therefore receives fewer tourists.

· Political neutrality in Switzerland encourage tourist while in Kenya reported cases of insecurity scare away tourists. 

· Switzerland undertakes more intense and effective marketing and promotion in tourism while in Kenya there is less intense and effective marketing and promotion. 

· Switzerland has well developed transport to provide easy access to tourist destinations while Kenya has poor maintained roads that lead to the tourist destination.

· Switzerland has mare package tours which lower the rate of charged for tourists, while in Kenya there is a few package tours which increase the rate charged. 

( 8 marks)

( e ) Explain four reasons why the future of Tourism in Kenya is bright.                ( 8 marks)  

· The government is doing a lot of advertisement / publicity abroad and locally,

· There are more tourist’s accommodation facilities being put up.  

· The government is developing and maintaining roads leading to tourist attraction sites for easy accessibility.

· The government is preserving / conserving wildlife historical sites.

· The government has developed and diversified more tourist attractions.

· The government is training more personnel to provide quality services. 

10. (a) What is environmental conservation?




        ( 2 marks )

· The preservation and protection of the natural environment from destruction/ wastage/loss by careful use of the natural resources.

(b) (i) Name three rivers causing flooding in western Kenya


        ( 3 marks )

· River Nyando

· River Nzoia

· River Yala

· River Kuja

       (ii) State four effects of floods on human settlements.


        ( 4 marks )
· Floods create stagnant water that forms breeding grounds for vectors of diseases eg. malaria and Bilharzia that affect people and animals.

· Floods disrupt normal life and poverty which is costly to replace.

· Floods cause water logging and leaching of soil which lowers fertility and crop production and may form large swamps that hinder settlement and human activities.

· Floods pollute water sources and land which cause water borne disease.

· Floods wash away crops leading to food shortage and famine.

· Floods wash away bridges, roads, telephone lines, airfields, etcetera disrupting transport and communication which hinders movement of goods and services.

· People are displaced by floods and made homeless which requires a lot of money for relief services causing suffering and misery.

· Floods lead to destruction of aquatic habitats hence reduced fish production.

       (iii) Identify three natural causes of floods in Kenya


         (3 marks )
· Low-lying land /low gradient which causes excess rainwater to spread over wide areas.

· Torrential rainfall in adjacent highlands which releases large water volumes into rivers that overflow their banks.

· Deposition of silt on river beds making them shallow hence water spill over the river banks to the flood plain.

· Rivers with wide flood plains at old stage which allows water to spread over wide areas.

· Rise in level of Lake Victoria due to heavy rainfall in adjacent highlands causing water to overflow and flood surrounding lowlands.

· Some areas have black cotton soils which is non-porous which when soak up allows water to flow

· Cultivation along the rivers banks blocks the river channel and cause it to become shallow thus spilling their water over banks 

    (iv) Explain three methods that can be used to control floods in Kenya.
         (6 marks )

· Construction of check dams/ dams across Rivers to hold excess water in order to reduce volume and velocity downstream.

· Construction of artificial levees/ dykes along banks to increase their height and prevent water from overflow into the flood plain.

· Construction of diversion channels/canals which help to straighten river meanders and restrict the flow of water within the valley.

· Construction of drainage channels, ditches and furrows to drain off excess water from the land.

· Regular dredging to deepen and widen river channels to make them hold excess water.

· Planting trees in catchment areas to increase infiltration of water and seepage so as to reduce surface run off.

· Diverting some river tributaries to other Rivers to reduce water volume of the main river.

· Training /re-directing/straightening of the rivers
(c) (i) Define pollution.







        ( 2 marks )

· The introduction of harmful contaminants into the environment affecting quality of life negatively.

      (ii) A part from air pollution, name two other types of pollution.
        ( 2 marks )

· Water pollution.

· Land or soil pollution.

· Noise or sound pollution.

· Radiation pollution.

· Thermal pollution.

 (iii) State three causes of air pollution in Kenya.

                                      ( 3 marks )

· Volcanic eruptions produce gases, volcanic ash, dust and solid particles to the atmosphere. 

· Smoke and gases from industries emitted into the air.

· Smoke from forests and grassland fires.

· Smoke from combustion of fuel in motor vehicles to the air.

· Rotting garbage and domestic waste produce a foul smell and bad gases to the air.

· Burning garbage and plastic produce toxic smoke.

· Smoke from wood fuel and charcoal.

THIS IS THE LAST PRINTED PAGE.

KASSU JET @ 2024


_1234567891.unknown

_1234567893.unknown

_1234567894.unknown

_1234567895.unknown

_1234567892.unknown

_1234567890.unknown

